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HER B AR 2 — FREIZA =T HER 4,908,000 3,160,000 520,000 1,228,000 4,908,000
KERMIETF L A2— JS2=TARER 4,783,000 3,160,000 455,000 1,168,000 4,783,000
Mg F 72— I hiuh i R Bl g £ = 4,973,000 3,160,000 630,000 1,183,000 4,973,000
INFRII A TR 2 — INRAZ2ZTAHER 4,929,000 3,160,000 500,000 1,269,000 4,929,000
FF A E 2 — AHMXIS2 =T HER 4,957,000 3,160,000 990,000 807,000 4,957,000
Rt A TE 22— KX IS =T o ES 5,094,000 3,160,000 580,000 1,354,000 5,094,000
ESigaEEy2— BEMXIZ2 - ToiES 5,106,000 3,160,000 510,000 1,436,000 5,106,000
REMBEFE2— WEMIEOS 1 =T oiHES 4,977,000 3,160,000 600,000 1,217,000 4,977,000
KBl A F 2 — KBIAZ21ZTAHER 10,225,000 5,688,000 1,550,000 2,987,000 10,225,000
BRI F 2 — BiRIZa =T (HES 12,094,000 6,320,000 1,681,000 4,093,000 12,094,000




